5° = Perimeter = 6 zf;round
102 = Area = B
24_ 10
5X 1000 = 3 1
5.000 X 103 = Area = . 2 | \
5.23 X 10° = oS |
74X10°%= - N 9
Write in scientific notation: _ _
X A=LW subtract A=LW
839,400 = —e_—_—___ X 10
5 (decima|) Fraction = division
E ) ) :ooo Area of the "
72 shaded part = 25 20
(3")" = (3°3°3°3)(3-3:3°3) G
53 x 5% = (5-5+5)(5+5+55) .
_ BH '\ 9 N\ | §
5%X3% = (5°5)(3+3) | Area= 7 8 5\ ¢
X= 4 X°= % 18 = Base = 18 =
85 X 8 3 = Eg?né?rzr:séxponents BH 12
Area = &
12° |
- = like terms, 9
12 2 subtract bottom exponent
-3 Volume = Vv =LWH 3
13 - Total surface area =
13°° LW + LW + LW + LW + LW + LW 2
2 ?
XXXXYYYYY = XY 3 :I ]
3 5 3. _ Area = 2 4
(5AB”) (4AB”) = , .
? 13
The reciprocal of = flip ]?rlétr’:f‘a‘i;grs;rzged areas
V36 = V (6)(6) X = 50 \ Memorize:
VAaZ= AV B)A) 5-12-13
120
Vs = ey
V49A” =+ (7)(7)(A%)(A®) = i X Memorize:
6 3-4-5
8




